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Algebraic� V-lSlO-fi 
YQu_migbt_n e _ecltalind mis_sjng_coeffic..ients when _a_auJ�ic_or_c::Ju_a~rtlc_expre~ssiorus_di\l.ide.d__by _a 
c::JUadratic expression. You can use lon,a division, but make sure you set your work out neatly. 

3x
4 

- Gx3 + x - 2 
Here is the working for 

2 

The x coefficient is O, 
50-wFite +-Ox�

x2 
+ Ox- 1

X - 1

You need to multiply (x2 
- 1) 

by 3x2 to get the term 3.x-4 ,__

so the first term in your answer is 3x2

-L
3x2 

- 6x + 3 The x2 coefficient is 0
j 3x4 

- 6x3 ±.. OL+ x - 2 ::=..----....so ..write + Ox2 
3x4 

+ Ox3 - 3x2 
---

---- 3x2 X (x2 + Ox - 1) = 3x4 + Ox3 - 3x2

-6x 3 +3x<+ X-2 

___ -6x3 
+ Ox2 

- 6xAlways line up terms with 
the same power of x. 3x2 

- 5x - 2 
� Be careful with negative 

- - --1-------------------�3;)(..? +-Ox 3� terms when sui,e-ra�c=e�in_g_: _ _ _ _ _ _ _ _ _ _ _  _ 
If you are dividing by a quadratic, -----5x + 1 -2 - (-3) = 1 

T 
the remainder will be a linear term. 

-

-

59 

�Quotient 

3x4 - Gx3 + x - 2 1 - 5x 
So-------- = (3x2 

- Gx + 3) + ---
x2 - 1 x2 - 1 

----_ Divjsor 

- - - ----------- --------------

Given that 

3x4 
- 2x3 

- 5x2 
- 4 dx + e 

, 4 
= ax2 + hx + c + 

2 4
, 

x-- X -

You can also compare 
coefficients to find the 
missing coefficients. Follow 

� these steps: 
� 1. Multiply both sides by 

find the values of the constants a, b, c, d and e. (4 marks)-
the divisor: 

2. Expand the brackets
carefully then collect

like terms.

3x4
- 2x3 

- 5x2 
-4 = (ax 2 + bx+ c)(x

2 
-4) + dx+ e

x4 terms - a = 3 

x3 terms - b = -2 

= ax 4 
+ bx 3 

+ c.x2 -4ax 2 -4bx-4c + dx+ e

= ax 4 + bx3 + (c - 4a)x2 + (d-4b)x + (e - 4c)

x terms -t d - 4b = 0 

3. Compare coefficients on
both sides. starting with
the highe5t power of x .

x2 terms ---+ c - 4a = -5 

C - 12 = -5

c=7 

d+8=0 

d= -8 

Constant terms - e - 4c = -4 

e - 28 = -4

e = 24 

As lon'3 as you write down
m:w what each constant is

equal to, you don't need 
to write out the wnote 
expression at the end. 

- --- --- - ..rliii_ liiiil_ - - - - - - - - - - - --- - --

Given that 

2x4 + 4x2 - x + 2 , + 
b 

+ + 
dx + e 

Y � +_l 
_
2 1 

= ax- x c , 
1 

, _, .,... 
X - x--

find the values of the constants a, b, c, d and e.

(4 marks) 

Whrchever method you use, make sure 
you either: 
• write out the expression in full

with the constants ira place. or
• writ-e a = . .  • • b = · · · ,  etc.

-


	Button_57_1: 
	Button_57_2: 
	Answer_57_1: 
	Answer_57_2: 
	Button_58_1: 
	Button_58_2: 
	Answer_58_1: 
	Answer_58_2: 
	Button_59: 
	Answer_59: 


